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Punjabi University Guru Kashi Campus, Damdama Sahib
Urrslt goleaiict gémia AfdA Aeg Yf3udis™-2024
PUNJABI UNIVERSITY JUNIOR SCIENCE STAR CONTEST

Important Instructions/mgst IJerfe3t
1. Fill all the information in various columns, in capital letters, with blue/black ball point pen in ENGLISH
2. Use of any type of calculator is not allowed.

IR 3 famH 2 Asaded & 293 & fraas &t I

3. All questions are compulsory. No negative marking for wrong answers.

A3 AT S 96| 9183 Ao B I8 Sdifee Hafadr &t

4. Each question has only one right answer.

I AT © fAge i &t At Aerg I

5. Questions attempted with over-writing or with more than one options/answers will not be evaluated

Geg-gaifdar At g 3 <0 feasui/Aes 78 i3 I8 ATS © HS'HE &Jf o3 Aredr

Name/a™ Father Name/fusT & &1

Roll No./ 3% &9 Date/fH3t

School Name/Ag& T &™H

Signature of Student/fefenrgst © gA3HI

Signature of Invigilator/fsdHd/fsdigTs @ IA3HT

English/miaraHT

Who declared to give sermon against fear?

A professor of psychology B Gilberton Chesterton C author D sad

Where does Leo Tolstoy belong?

A Germany B Russia C America D ltaly

Take care of your health. (Suggest the mood of the Verb in italics)

A Indicative mood B Imperative mood C Subjunctive mood D None of these
Which one of the following is an example of Compound Noun?

A Lukewarm B Whitewash C Snow-white D sweetheart
One who is interested in the ancient things:

A biologist B archaeologist C philanthropist D philologist
The Home Coming is written by

A N.V Peale B Rabindranath Tagore C RajaRao D R.K.Narayan
Form a verb from the noun ‘grass’:

A Grassy B Graze C Green D Greenery
How many years did the Earth take to cool down?

A thousand B millions C hundred D none of the above.
He looked __ his watch everywhere

A After B for C away D of

Where knowledge is free, Where the world has not
been broken up into fragments, By narrow domestic walls ....
Who is the author of these lines?

A Mahatma Gandhi B Rabindranath Tagore C Swami Vivekananda D J.L. Nehru
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Some scholars laughed at Ashtavakra’s . (Some Glimpses of Ancient Indian Thought)

A Joke B Friend C Luck D Deformed body
Who is the author of Razia, the Tigress?

A Nissim Ezikiel B Kamala Das C Keki N. Daruwalla D Bhisham Sahni
Who is the famous nature poet?

A William Wordsworth B William Shakespeare C George Orwell
Who won Nobel-Prize for Gitanjali ?
A Rabindranath Tagore B Sarojini Naidu C Kamala Das

Your heads must come, To the cold tomb:
Only the actions of the just, Smell sweet and blossom in their dust ....
These lines have been taken from the poem written by:

A James Shirley B John Milton C John Lyly
Machines provide us with more and more hours of

A Hard work B leisure C life
Noonecanrunfaster _ Rama

A After B Before C Than
When | was young, | see without spectacles. (Modal)

A Can B Could C Might
A group of cattle:

A Herd B Mob C Mass
Strike theiron ____itis hot.

A While B Because C Since

General Knowledge/™™ famirs

How many Union territories are there in India?
A8 B 5 c7
In Vidhan Elections 2022 how many seats Aam Admi Party won?

2022 ©M feors A O ffg WH wiet Urgdt & faas Fter s A ?

A 92 B 88 C 90

How many districts are there in Punjab?

Uy RO 3% fds fid 95 2

A 21 B 23 C 22

Who is current home minister of India

93 T Hge' J[lg Hadt e I

A JP Nadda B Amit Shah C Raj Nath
AW Es WiH3 g IH&H

Who was 7th Guru of Sikhs?

et 2 73 91g dE A?

A Shri Guru Arjan Dev B Shri Guru Har Rai C Shri Guru Har Krishan
i Ig WIHe 8 it Ig 99 Ife it Ig I3fHs

How many spokes are there in the Ashoka Chakra of the National Flag?

JHeS ¥3 © wild gad &g fds 33 9572

A 20 B 24 C 28

When was Punjab divided on the basis of language?

I @ W GUg UAe & 3 a< I At ?

A 1960 B 1971 C 1966
When Corona epidemic spread in India?

FI& HIH S F93 KT o< 25t 7t 2

A 2019 B 2022 C 2020

Which of following state does not share border with Punjab?

D John Donne

D Nissim Ezekiel

D John Webster
D health

D Thereafter

D Must

D Horde

D for

D6

D 95

D 29

D Nitin Gadkari
IREGEIECE

D Shri Guru Amar Das
i g vHI T©H

D 32

D 1965

D 2018
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A Haryana B Rajasthan C Uttar Pardesh D Himachal Pardesh

Which country won FIFA world cup 2022

Ster Jy 2022 oA 21 & i3 #t

A France B Argentina C Brazil D Crotia
Mathematics/3fe3

A horse is tied to a peg at one corner of a square shaped grass field of side 15 m by means of a 7 m long rope.

The area of that part of the field in which the horse can graze, is:

i &7 § i 7 iieg Seit I o 15 1icd @ Tgarwrard @ wd © Aes © g 3% R B i3 o8
sfenr Ifomr 3 | 93 © OF TR T 83Iesn K8 UF 99 Fae O:

AT7 B 77/2 C 154 D 77/4
If the circumference of a circle is 352 meters, then its area in square meters is:

Adg 8 g T g 352 Hied I, 37 ferAer 933es fd& <991 Hied J=ar

A 9200 B 9500 C 9000 D 9856

A portion of a 60 m long tree is broken by tornado and the top struck up the ground making an angle of 30°
with the ground level. Find the height of the point where the tree is broken.

60 H. B9 T3 T fiia fIAr 9239 &8 < AT I w3 figgd mHls © Uog © &% 30 {3495t T de g=6e I
fig & GTE U3 93 il w3 Sfewr I

A 30m B 35m C40m D 20m
The mode and mean is given by 7 and 8, respectively. Then the median is

Tg8F W3 HOH'S FHET 7 W3 8 I5, 3T HOHG

A 113 B 13/3 C 23/3 D 33

A pole 6 m high casts a shadow 2V3 m long on the ground, then the Sun’s angle of elevation is:

6 Hitea Qo i b mles '3 243 Hiied Sur ugere’ uGer 3, fag gon enrer Gure e fder J=ar

A 60° B 45° C 30° D 90°
The coefficient of x in the expansion of (x+3)3

(x+3)* § uBE 3 x T I fder I

A 27 B 18 c9 D1

The letters of the word SOCIETY are placed at random in a row. The probability of getting a vowel is
SOCIETY AeE © wHd 5133 £d 9379 &9 94 I8 I65| AT wiud fise & Aoes fdat 3

A 17 B 2/7 C 3/7 D 5/7
The volume of a sphere is 4851 cubic centimeter. Its diameter is:

i IV T wess 4851 wWe Achiteg I feA © fowm 3

A 3.5cm B 7cm C 14cm D 21cm
The degree of the polynomial, x* +x? +2 is

HIUT x* +x2 +2 T {395t a8t 3

A3 B 1 Cc2 D4

The slant height of the frustum of a cone having radii of two ends as 5 cm and 2 cm respectively and height
4cmis

s 1y 2 fSad © © wiad forA JHeg 5 Achied w3 2 Adhited 96 w3 Gurdt 4 Adhiiea 3, fordt =&t
et It

A 10cm B 5cm C 25¢cm D 15cm
One of the root of the polynomial x2-3x+2 is

HOUR x>-3x+2 T I8 i Y fogar I=4r

A1 B -1 co D -2

The sides of a rectangle are in the ratio 3 : 7 and its area is 1029 m2. Then its perimeter.

B wifezarg EmiF 577 3:7 © Wau'3 2T I6, forer 83985 1029m2, 3T for wit3arg © o5 Wa fdar J=ar
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A 150m B 140m C 160m D 130m
What is value of cos? 1° + sin? 1°

cos? 1° + sin? 1° T IS SH3 I3t

AO B 1 C -1 D 2

A bag has 5 white marbles, 8 red marbles and 4 purple marbles. If we take a marble randomly, then what is the
probability of not getting purple marble?

i a1 &g 5 IS HIHIHI, 8 BB HIHIHI W3 4 ATHE HIHIHS I | Aad wHI 8 Aaniang & 9393 <a
&8 88 I, 3T AHS HIHaHT & fise & Haes of 37
A 05 B 0.66 C 0.08 D 0.77

If the mean of first n natural numbers is 3n/5, then the value of n is:

AT UfgSt n gea3t Aftmiret @ HOH's 3n/5 J, 3T n T HS I:

A3 B 4 C5 D6

A plane is observed to be approaching the airport. It is at a distance of 12 km from the point of observation and
makes an angle of elevation of 60°. The height above the ground of the plane is:

s AIH e W3 © &3 wiger 2ftmr famr J| feg fsdhie © g 3 12 fadifieg S edt 3 I3 60
39t T @ore € geger J| Ao O mHls 3 ot

A 6VY3m B 4V3 m C 3¥3m D 2v3m

From a point P which is at a distance of 13 cm from the center O of a circle of radius 5 cm, the pair of tangents
PQ and PR to the circle are drawn. Then the area of the quadrilateral PQOR is:

fix fifg P Afx 5 Achiicd wigd fenrA T8 gad © deg 3 13 Adhics T3 3 3 © AuIn 9= PQ »3 PR
fefghat Irdheit I, 37 93931 PQOR T 833 fdar J=ar
A 60 cm? B 65 cm? C 62 cm? D 58 cm?

The difference between the two numbers is 1365. On dividing the larger number by the smaller, we get 6 as the
quotient and 15 as the remainder. What is the smaller number?

< Aftmiret {39 wi39 1365 J1 23t At § 28 &8 391996 '3, A 6 IS W3 15 Jrelt figer J|
=t At &t 32

A 360 B 295 C 270 D 240
If sin B-cos 6=0, then value of sin 6+cos 6

AT sin B-cos B=0, 37 sin 6+cos 6 T AHT & I=I

A1 B 0 C V2 D2
If tan 6 =3/4, then value of sin 6 will be

ASd tan 6 =3/4, 37 sin O Tt AT AHT I

AO B -1 C 3/5 D 3/4
If the lines 3x+2ky=2 and 2x+5y+1=0 are parallel then value of k is

Had T Iuer 3x+2ky=2 and 2x+5y+1=0 AH&W3T JE 3t k & dtH3 &t J=ai

A -5/4 B 2/5 C 15/4 D 3/2
The probability that a non-leap year selected at random will contain 53 Sundays is

g33318 39 '3 gE I JI9-8Y A% £ 53 W3eg J= & Ages I

A 1/7 B 2/7 C 3/7 D 5/7
If one root of the quadratic polynomial x? + 3x + k=0 is 2, then the value of k is

Ao © UT AHiFIs X2 + 3x + k=0 T Y& 2 3 37 k & tH3 fldt I=aht

A 10 B -10 C5 D -5
If the three points (-3,-1), (k,0), (1,1) are collinear then value of k is

fd& g (-3,-1), (k,0), (1,1) Adg S Iur Gl Hge J= 3t k & n3 fdS I
A0 B 1 C -1 D2

If A, B and C are interior angles of a AABC then cos((B+C)/2) is equal to
Aad A, B3 C, AABC @ Wiegal d I 3, cos((B+C)/2) faA & S9=g I

A sinA/2 B cos A/2 C -sinA/2 D -cos A2
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The mid-point of line segment joining points A(-2,8) and B(-6,-4) is
< et A(-2,8) and B(-6,-4) $ AF& =5 v T ve ffg off J=ar
A (-4,-6) B (2,6) C (42) D (4.2)

If two tangents inclined at an angle 60° are drawn to a circle of radius 3 cm, then length of each tangent
is equal to

3 Adhiica wiag fenwmr @3 g Jag 9 © AUIR 9= WuR &9 60° dF ‘3 ga I | I9d AUIH
< STE 59eg Je9n
A 23 cm B 6.cm C 3cm D 3V3cm

A cylinder and a cone are of same base radius and of same height. The ratio of the volume of the cylinder
to that of the cone is:

s 25 w3 s g i worg w3 i Godt © I5| 28 w3 Hy © wit3s T wigurs 3:

A 2:1 B 3:1 C 23 D 3:2
The quadratic equation ax>+bx+c=0 has real roots if

© UE AHISTS ax?+bx+c=0 © Y& A3 Jedl Adg
A b*4ac=0 B b?*-4ac<0 C b*4ac>0 D b?-4ac=1

Sum of first first 16 terms of AP: 10, 6, 2..... is
AP: 10, 6, 2.... S Ufgsnif 16 Jarit T AF fdar J=ar

A -320 B 320 C -352 D -400
Chemistry/gATfee fefamirs

Amphoteric oxide is-

WIS WIAEE I—

A N:O B Ba:Os C ZnO D K:0

Which type of medicine is used to treat indigestion ?

I fafimr (&5 fagdt fam & Todt @ Segmit © 8 96 S8 293t At 9—

A Antibiotic Wid=rfe@fesr B Analgesic wersafia C Antacid wlenfig D Antiseptic widRufes
The pH of the solution which turn red litmus to blue is —

€ 0% < pH dt It figz 88 fBerA § algrag fider 3

A1 B 5 C 10 D4

Metal can be beaten into thin sheets this property is called.

o3t § e 3 U3 gred fo Sefenr 7 Ader J, I3 T fog g wierger 9—

A Malleability J&tedi®3™ B Ductility ffoeii®ar C Lustrous o3& f&ma D Hardness s¥&33"

Which of the following acid is present in ant sting —

St © 391 K9 iz Wifis der 9—

A Acetic acid B Lactic acid C Citric acid D Methanoic acid
A B3 Safea 2fAs IGGEEIERES

Which of the following nonmetal is liquid at room temperature-

IHI © IUHs BT T 398 were {9 fiHge =gl wiarg 9—

A Chlorine B Bromine C Flourine D lodine

I3 TS eBIS RUEISEI )

Which metal is used for coating during galvanization ?

JdBeolads AN far o3 & ud3 g3 Al 9—

A Gallium B Aluminum C Zinc D Silver
JSBH WESMH [ELES ger

General formula of Alkyne is —

WBIEG T AOGS B3I 9—

A CnH2n-2 B CnH2n+2 C CnH2n D CnH2n+4

In presence of sunlight 2AgCI(s) -------- > 2Ag(s) + Cl. (g) the reaction is example of-

HId & Imat & Je &9 2AgCI(s) - > 2Ag(s) + Cl. (g) feg grfefea fafonwr Gogs I
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A Combination Reaction B Decomposition Reaction C Displacement Reaction D Double Displacement Reaction

Hutres fafamr UES ffanr ferEmys fafanr T feranys fafanr
The common name of CaOCI2 compound is-
CaOCI2 BfJid & Arg'gs & ot 9—
A Lime water B Gypsum C Bleaching Powder D washing soda
g& T uret e Jarare TfHaT AzT
Life Science/rite W3 &AUST fefamirs

In plants, rewards and attractants are required for

A Entomophily B Cleistogamy C Anemophily D Hydrophily
necHfcE FEASIN wefest CROE(CH)

Action of parathormone in the human body

HEHE AStT &9 dg8ans < fafanr

A decreases blood B increases blood s C decreases blood D increases blood calcium level
sodium level odium level calcium level Y& T ISHMH © o9 &
ESISREIK L ESRIE R Yo e ASH B UTI § yseasEm e doe § Gar 3 i
werger 3 Toger I werger 3 -

If there is an injury in the hypothalamus region of the brain, it is most likely to affect

Had ferrar © IEESHA 133 ffT JE e SaT Al J, 3F fan © ygrfes Je & Ag 3 Ages g1 I

A regulation of body B decision making C co-ordination during D short-term memory
temperature = roukr Yo locomotion 2t e < AR
A © IS T fstige BIHHS T BTG IBAS

Which of the following statements is true about involuntary breathing?
wefg3 A9 &t 99 Jot &3 aus’ &9 faoz g J7
A ltis controlled by the B Itis controlled by the C ltis controlled by the D Itis controlled by the

bronchioles pulmonary arterioles alveolar-capillary neurons, located in the
g SolaGBH e g USHEI TEmIt network medulla and pons
st tg g e 3 o fsiats s ﬁaaﬂaér@maﬁqw feg I enrrar fetisfas
3 ScegaenT fatsfas A3 AT I, 7HASE 3
Az Aerd UoH R9 AfE3 96

The rate at which food energy is assimilated at the trophic level of consumers is known as
HU3Idt T Sfed Und '3 {7 €9 &% 316 @97 & Ao wier 3, @R & faar Aer 9
A Gross primary productivityB Net primary productivity C Secondary productivity D None of the above

3 yfndt gsuressT o yfordt @3ureas LEECIRSENECEY g & &It
This hormone is responsible for “fight-or-flight” response
fog Tois "Aaeadle" YyIifafanr g8 ffieg 3
A Thyroxine and melatonin B insulin and glucagon C epinephrine and D oestrogen and progesterone
FEJaHS W3 Adfas fTarfEs W3 BTG norepinephrine WHSHS W3 YAAco
- afisges w3
SUdagEe

ES

Mendel’s findings were rediscovered by

H3w S 3 & 4 89 fam enrgr i3t arst /it
A Correns I'3ad B De Vries St edi9 C Tschermak HFaHd D AlAg

Radiocarbon dating can help find the age range of biological specimens no older than:

ISCITTs 3T Afed sHfent T §ra v B3 R HeT d9 ATl J 1 oA 3 UIe & 96

A 50000 years B 100000 years C 500000 years D 1000000 years
The fusion of female reproductive nucleus with the male reproductive nucleus is known as

&9 YrAas [SET8MIHA © &8 Her Yraas fa8asmiA € Atrs § faar Aer 3
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A Adoption Je s B Excretion foamA C Fertilisation D Regeneration
IdEEAHS (fongs) YSITOH

The alternate form of a gene is

His T geset gu J

A Alternate type B Recessive character C Dominant character D Allele
feasfus fam sl B8E ys<l 88 Ty

Physics/3f3d fefamis

What is the correct order of resistivity in Glass, Silver and Nichrome

9, Bea W3 TEgH & YSgus e At H ft I

A Glass > Silver >Nichrome B Silver >Nichrome >Glass C Glass >Nichrome >Silver D Glass< Silver< Nichrome
39 >fH8eg >&EIgH fgeI>Edp>dg Sg>aEH>THgeg Sg<HBTI<aEgH

A student inserts a bar magnet in the coil. The student observes deflection in the galvanometer connected to
the coil.What will happen if the magnet is continuously getting in and out of the coil?

&g fleenwras diearg I8! <9 85 g9 UGt 843 67 d38! &5 13 dnsHicd €8 fedus 2uer J|
A 69 29 g9 § B3 I3 © veg-gag a9 3

A The currentinduced in B The current will change C The magnetic field will D The magnetic field of the bar
the coil will increase its direction continuously create a motion in the magnet would keep
EEANCERVSEAERI] ot oo sar3 g wusr coll decreasing
S frr B gocl 939 I3 RO I8t &3 gad © gHel 939

e J39r Weer gIar

A magnetic field is applied from South to North. If particles with no charge (Neutron) moves fast in this
magnetic field from East to West direction, then what will happen to particles

s guelt 939 SuT 3 €39 <8 AUz I Ad9 S99 fA vad €8 (folcs) o guel 939 R yag 3 der
forr <% 39 35t o8 Swe 37 g < ferr ‘3 st yge u=ar
A Deflect in North direction B Deflect in South C Will stop in the magnetic D No effect

@%Wé‘&'tﬁ:?&’[ direction field ég"rxi@—qﬁuéav

A water tank filled up to 2/3 of its height is moving with a uniform speed. On sudden application of the brake,
the water in the tank would

2/3 I Uret &5 33t &t AT I13T 3 98 It | WoTeS H9 BIrgE &% Uret
A Move backward B Move forward C Come to rest D be unaffected
g A i) T AfEg I F=ar CIRTEESS RICE

A 10 mm long pin is placed vertically in front of a concave mirror. 5 mm long image of the pin is formed at
30 cm in front of the mirror. The focal length of the mirror is:

g 10 firdhites St 7t i wie3s Taue © AronE T b3t i3t ot J| fer 7t & 5 fHehiie &
Y TauE @ 30 Adhiics Td Seer I TauE & o3 Sad &t 3

A -30cm B -20cm C -40cm D -60cm

A wire has 1 ohm resistance, 700 cm length and radius 7 mm, then what is it’s resistivity

¥ 379 T Y3i9T 1 Gaw, gardt 700 AShited w3 wign-fand 7 fiehiies 3 37 @A & YFidusT ot I
A 0.0022 B 0.0202 C 0.022 D 0.22

What is the reason behind Myopia in human eye

HEH Eif wieff 2 foae ferdi er e age ot 3

A Elongation of eye ball B contraction of eye ball C Expansion of Pupil D Contraction of Pupil

VoI Iae Vo IAT Y33 T B AT y3dl T HIg e

Which type of electricity is used in our houses

A3 w3 9 faod fordl rast =g3t A<t

A 110V, 50 Hz AC B 220V, 60 Hz AC C 220V, 50 Hz AC D None of the above
g &t



89 The mirrors used for the head light and side view mirror of the car are respectively of which type

g T I3-BEIC T TIUT W3 UA(FEI) TIUT JHTS fIA yd9 © Ie I&:

A Convex and Concave B Concave and convex C Both Convex D Both Concave
90 What is horizontal field of view of one human eye

fE HoH iy T fiusA fordt 939 g der g

A 180° B 360° C 150° D 120°



